INB-F50580133d-JEC

Bk AAE /INSTRUCTION MANUAL / fSE A1 ER

Fuiji Electric

400A ~ 800A 1EZE FRME

EtA—rIL—H -
Fuji Auto Breaker and
Fuji Earth Leakage Circuit Breaker
BT BTMKES - E LIRSS
400A~800ATL —L FEH

Frames 400A to 800A Front Mounting type

ELREENSR

T, ERIE BESIKURST  RIRZTSHIC.

HIREAEREZL<BFRHFDLE, ELITERLZEL.

FICBREAE S EDRIEDEAEEEDTICEBILD.

CEEBVET.

O Ll TlF, ZEIRBEDUNILE [EE] XU NEE]
EUTRDULTHDET,

CERUEWE, FEEFICEFERZEBLIBEND
HDBRINRZRUET

CEEUEWNE, BEECEFREEDREZEL
BENDHDBRFIRRD S OYBIEENFE
TIBZTNDHDHEERLET,

CELEUICERIETH, WRICK > TFERKL
BRICEO DL HREMN SO H T,
WIFNHEEFRNBZLH U TVEITDTYHFTFoTLEE L,

| Safety Precautions

Before installation, wiring, operation, maintenance and inspection

of the device, be sure to read the operating instructions carefully

to ensure proper operation.

Care should be taken that the operating instructions will be

furnished to the maintenance supervisors of final users.

@ Safety precautions items are classified into “Warning” and
“Caution”.

: Indicates a potentially hazardous situation,
AWARNING which, if not avoided, could result in death

or serious injury.

: Indicates a potentially hazardous situation,
ACAUTION which, if not avoided, may result in minor
or moderate injury and/or damage to the

equipment.

Under certain conditions, improper operation may result in
serious injury and/or damage even if it is labeled only as “Caution”.
Every item indicated by either “Warning” or “Caution” should be
considered significant. Be sure to give particular care to those items.

ZEEFEEW
Rt TR, EERT. BERER. FEa,
ERRBAT, EMER.
o, REFR, BEAERARBERARELERREA,
O EILEARBPRE, KL ETSEMIRISH
L [EF] A LER] PSR,

BIFAIDIE

/N\EELE | RN, BTASAECNEBHRIRAS.
| TRISHOIE, BAIRSER PSRRI,

:
1T RAEIUARREMRIRA S,

734k, PFTCHEAIEIR, KIBERER, PAFE
ESEERERINTREM,
EIHI—ASEHE D EERN, BZLEETFHRIT,

EHiEEZ ) D TIT o TLEE LY,
REDFLVIERICKDNEDBENDS DT,

@ 2N FRDFEFRBERICERCET DD T LFHER LBV TLLEE W,
RELCHREBEMBEEELEEA.

ANEE AWARNING N
OIS, BL, EMERBRURT - RIS, LT | | @Tum off the upstream circuit breaker prior o installation, | | @ %235, 751, BEIBTRIEN, LA Liusiiss.

removal, wiring, maintenance or inspection to prevent
electric shocks and burns due to short-circuit.

@ Do not touch two live lines at the same time.
Earth leakage circuit breaker does not operate even if an
electric shock occurs.

BNSHEE, SEEHEERED.
O 55V AERRIALERAL TR AR,
AN, BRERREE, BTERESAENIE.

=
=l
LT

A CAUTION

NEE

® FIREFIC, 1818, ZRDHZ2BORKEHALEVTLEEL,

O 1}, BRIBHSLVRST - AR EFIMBZERD
BERENMTO>TLIRE L,

O TR %R ULhdL), BEMAR, BEORD - HREE
ERLTRBICRELLEIVTLEEL,

XK, BREMEREDBZNHHDET .

® EENICEILICIBSE, BRZRDERVLTHS/\Y RIL
Z%A (ON) LTLREEV. KKDOBZNHAHDFET,

@ iH FHHTIKARE & DEMAIRZEIT > TLRRE L,
RENEDBENDSHDFT,

O T, OVUU— MY, BMIEERYDHEEAIICA SIEL
KSCHMILTLREEL, EMABPRBIABBLD
REEREDBZENHSHDET,

@ SFAIENTLELVAB COBEEZITOIEVNT L EE LY,

O HREZRET DIEAE, EXEEWEULTWOIERS>TL
&L,

® 7ILIiRF, BIRD T U—NimFADEREERETHIEL
TLIEEL,

© KAICEHOEREE, TREROBENTERAL TR
&V ERNADERIFHE, FEIMMEOFRRELEDET,

® BRAICATRAIDRRDH2EDF, BEVWELERLT
<EEV. KK, BEOREEEDET,

O REEWERIEFHREFEMLTCVFIDT, NEDICHEE
NREUVET EREMELEOEENEUF T,
BEZEOBUWEFRCOTHERPREZEITTIREL,.
Fle, BREBRSZSAREROBE, EREEOEHE
Zigs (ZCT) D#BEICLDBHARLEITDT, Bk
DRFRNBROEZ10kHzIUTT, BDOIAMUTCTHER
<fEEL,

@ Do not use one found damaged or deformed when unpacked.

@ Installation, electric work, maintenance and inspection of
the device should be performed by qualified engineers
having special knowledge.

@ Do not install the device in a place of environment with
high temperature, humidity, dust, corrosive gases,
excessive vibration/shock, etc. to prevent fire accidents
and malfunction of the device.

@ When the circuit breaker trips of itself, remove the cause and
turn the handle on. Or else, it may lead to fire accident.

@ Make sure that terminals are fully tightened periodically to
prevent malfunction.

@ Care should be taken to prevent entry of foreign objects
such as dust, concrete chips, iron powder, etc. or it may
result in poor contacts, defective release action or
malfunction of the device.

@ Do not modify the device unless it is permitted.

@ When the device is to be disposed of, it should be handled
as an industrial waste.

@ Do not connect aluminum terminals and conductors to the
breaker directly.

@ Use the breaker in a range of the rated voltage and
current shown on the name plate. Or, the breaker may
malfunction.

@ Make connection on line side and load side in a correct manner.
Or, fire accident may or malfunction may occur.

@ Earth leakage circuit breaker does not operate normally
when dew is generated. Do not use and storage the
earth leakage circuit breaker in the place where the
temperature change is extreme.

Moreover, since ZCT of a breaker may be overheated in
the case of the circuit containing harmonics, use the
breaker under the conditions for the distortion of the

leakage current is 10 kHz or less and three ampere or less.

OFFHERT, BHINTRESBIRIIER. W8, B2ER.

O, BSTERER. HEFl, SLLEEIIMIR
ARBHT,

O EREBIFRTEESE, S8, SR, BIRESIK,
SERIRIRESRERER.
BN, BRENKIIRIFAIRTREN.

© B, BEEREBREFERAFM (ON).
BN, BIESEKR.

O EEMIEIRFRRERT, LAFGLEREE.

OIEEENEMKE. KiK., BTSRRI,
BUETEES EEMAR. B RIIREE.

O EIRBEENFAIRN, BREIMAFBTHIE.

O KA MY, BRI,

O EREEREMBINT, SHRMIRRERT.

O EEAATICHAVEUERE, SEBMCERETER.
BN, BEIRESEHIEF I EIE.

O I THEFERIRIBRIFEIRNAIGAREN, BEMRRLE.
BB RERAE K RFTEE,

© T IRFEMTIRAR(EA TR AN, WRAAPRESENIE,
BURRERGENNE.
REEFF R E R RIZIEO A A E AR R E.
B, VT EBBRIERMD AL, HRFRNZR
Times (ZCT) E#kREmEHR, BIiEERRER
KETE10kHZLITFFHEESALL TR REHIEE.

Fuji Electric FA Components & Systems Co.,, Ltd.



1 BESR

FIV—NZRRLICS, @xXhICHBE LB gEnhESH
RIRUTLIZE L,

Fle, BEEEP@RZRICTHREBL TS,

1 Check

Upon unpacking the breaker, verify no damage in transport.
Please also confirm that the specifications of the parts match
those in Table 1.

1 HA
FIFARMIERE0ERE, BREELEERETRHIIS.

[E— B AP RIERHBRIER FEIA.

#1 tREH& Table1 Partsinapackage 3*1 EESMH
g»—kmﬁz;% HE LR  Parts in a package  {EEERMY
reaker type -
i ESd) $@EB&HA Common part BRI FRimTEREBE Only for flat terminal LRUFFEMREH | 70y i FERAMBE Only for Lug terminal BHRIFFE R
il M6x100 47 7B M12x35 6%
Mounting screw M6x100  4pcs. Hexagon head bolt M12x35 6pcs.
f%ﬂ?ﬂ— M6x100 4‘% /‘_\%g& M12x35 6%
Fob M12 6f&
Fub M6 4@ Nut M12  6pcs.
AN
BWA400EAGU Nut M6  4pcs. 1B M12 61
BWA00SAGU LES M6 44 FEE M12 1241
Plain washer M12 12pcs.
BW400RAGU FES M6 4# TE M2 1267
BW400HAGU Plain washer M6  4pcs. $ES M12 6% -
EW400SAGU TRE M6 4 Spring washer M12  6pcs.
EW400RAGU . [
WhiE M6 4t RO M12_6H
EW400HAGU Spring washer M6 4pcs % BW400EAGU-2P, BW400SAGU-2P, BW40ORAGU-2P,
A M6 4 ’ BW400HAGU-2PIs T h 2 N4 F DB,
SRR Note. Use 4pcs, of screws for BW40OEAGU-2P,
¢ BW400SAGU-2P, BW400RAGU-2P,
1R/SU7  B43A 4k BWA00HAGU-2P
Interphase barrier  B-43A  4pcs. &4 BWAOOEAGU-2P, BW400SAGU-2P,
HRIERER B-43A 41X BWA400RAGU-2P, BWAOOHAGU-2P,
= AR M12x40 12K
Hexagon head bolt M12x40 12pcs.
th
BW630RAGU Same as the above e M12x40 125
BW630HAGU il
Fuk M12 1218
EWG630RAGU Nut M12 12pcs.
B Mi12 124
FES M12 24
Plain washer M12 24pcs.
BW80ORAGU S M12 24#
BW800HAGU l$hES M12 124
Spring washer M12 12pcs.
SRR M12 121¢
2 Bl 2 Mounting 2 %

TU—HOmMFE, BESNTVSEMRUZEERALT
FoTLIZEL,

3 E:vtu

3.1 EFREOTER

(1) BFEBR - SRR T U—HICBELEMNENTLEN
CERTHERLEEL,

BIRDERE, NEC (National Electric Code : XEES
T=EE) F/cld CEC (Canadian Electrical Code
Part 1! WP ¥BIILERE) ([CEoTERLTIZE L,
EiEiRE, 75CHliRESERIEE0.

BB, ULREBIRF/CIFCSAREBRZ CERLIEEL,
ERBR, EEnT PSR, SEOLTELEDEDIC
WO TLrEEL. (K1)
HEE/UPZHMEBLTEDFIDT, TR, GifliEsc
BOFFTLEEL,

FEAEBROIANE T &, BIREICFEBICKRE LB AN
FKELFITDT, BROZFEREICLTLIZEW,
(7) HFRUZEERNICE UKD LTLEE0,

(8) P—UHRFEOZDNSIHENTLEEL,

(2

N

(3

=

@

Z

5

=

(6)

3.2 JOvImFDBs

(1) IHFAOELHBRE, RIICRIEHIREBRYT A XD
BigZ CER<LIZTL.

BIROLDHIF, R2(CHEo>TLZE,

B, HHROERIFTETE Ao

T0v ImFICIE, YA XDEIE o I AD Bz —iE
[CERTEFEA.

(4) BRIF, FHEDULENTLIZEL,

(5) BfRlF, KRIICHRIHHNT BT THDMIF TS,

@

-

()]

a7
Interphase barrier
TRIERRER

9 U O
ftEHh/N—1l

0000 00000 Accessory cover screw
HEIRET

(] o

1 Fig.1 BE1 (400-800AF)

Fix the breaker using mounting screws.

3 Connecting

3.1 Precaution for connecting

(1) Confirm that no voltage is applied to the breaker, wire and Bus.

(2) When connecting the wires, follow the instruction of NEC
(National Electric Code, USA) or CEC (Canadian Electrical
Code Part 1, Canada).

(8) For connecting, use the copper wire for 75°C.

Use the UL or CSA approved wires.

(4) Each connecting wire or crimp terminal, conductor pole should
be connected in parallel as shown in the Fig.1.

(5) Fit the attached interphase barriers between phases on the
line and the load side.

(6) Keep the connection of the wire tight sufficiently, because the
very large electromagnetic force will be generated, when the
short circuit current is applied.

(7) Perform the additional tightening of the terminal screws
periodically.

(8) Keep open the outlet of the arc gas.

3.2 Lug terminal

(1) Use the connecting wire of the sizes listed in the Table 3.

(2) Follow the number of the strands of the wire indicated in
the Table 2.
In addition, the multi conductor wire can not be connected.

(3) To the Lug terminal two wires with which sizes differed
cannot be connected at the same time.

(4) Do not solder the end of the wire.

(5) Fasten the wire with the tightening torque indicated in the
Table 3.

x2 BROLVR

Table 2 Number of strands connecting wires

HTIREEI%SE, BEA—ERN%RET.

3 &R
3.1 EENRERER
(1) BRIABEEBENINEEEBL. SBEMFLIREESE -
(2) BB 51EBNEC (National Electric Code | ZEBSTENE)
& CEC (Canadian Electrical Code Part 1: JIZ2XBS
TieME) &8,
(3) EIER BT 5° Gk,
ok, EERULAEBZETE CSAINEBL,
(4) BxERBL, EEFTISBEMH TR TRE, (E)
(5) BRI T EERRR, BERIR. AREERE,
(6) HIDIREBMBII, EBLEARREIFERNBH A,
H It iEsRE BN T IF N,
(7) BEITFRin IR,
(8) BEAZILMRM S AHE T O3 2E,

3.2 BtRim RS

1) R T RIFR AIB E IR AR AT R T RO L.
2) BBEAISEIEIRIRR2, Ihh, FEILLEREZTL.
3) IBtRImF E AR LA R T A EIRIFPEE L,

4) BBEIETERIRHKEE,
)

(
(
(
(
(5) BEBUMERI A EEHEIT A,

R2 EBEHIRE

EIRY 14X Wire size
AWG or MCM (mm?)

R

L UFRDOE  Number of strands ~ REHIEE

14-2AWG (2.1-33.6mm?) 7
1-4/0AWG (42.4-107.2mm?) 19
250-500MCM (127-250mm?) 37




3.3 RQUIRFDHE
QD]

CEALLIEETL, (2) Because wire cannot be connected directly to the terminals,
(2) BEFEEEETEETANDT, RIICRIESEFS select crimp terminal shown in the Table 3.
TEALIEE L, (B) Fasten the connecting bolt with the tightening torque indicated
g N CE <4 - =), in the Table 3.
Ei; g;g;g zi&:;gﬁg ;}Ubjz;)tz&é?ﬁ%‘—i;c%tt ! (4) Use the connecting bus bar of the sizes in the Table 4.
3.4 FRETFOES 3.4 Flat terminal
T - [ . (1) Use the connecting wire of the sizes listed in the Table 3.
M fﬂﬂfﬁ?/:i)}gh%ﬁ!;‘ R IBRT A ADBOZE (2) Because wire cannot be connected directly to the terminals,
CfRA<IEEL. _ . select crimp terminal shown in the Table 3.
@ %*ﬁ‘gﬁﬁ?ﬁﬁ?“‘?*ﬁ/‘)@t RIIONI EE T = (3) Fasten the connecting bolt with the tightening torque indicated
TRV, in the Table 3.
(3) EERIL M, RIITRIHN MLI THDMTTLZEW,  (4) The case two crimp terminals are to be connected, reinforce
(4) FEEmFEAEFRHTICERT DHEEEF, BISTEED the insulating distance to the mounting surface may be shorten,

BREENAET D ENHDERINDT, T—EVILE

IFANDEFREBEIRE, KIICRIBRHRT A XDHD%Z

THggRE LT <EE L,

=3

3.3 Screw terminal

ERREM - BIRY (A X BEEBRT - EBELE. WFOMHEMT bLY

(1) Use the connecting wire of the sizes listed in the Table 3.

it needs to make insulate by taping, etc.

Table 3 Rated current, Connection wire size, Applicable crimp terminals and crimp tools and Tightening torque for terminal

3.3 B4TimFRS

(1) T RIS (E IR FIRRIEB R T,

(2) BEAREE G, BERWERIMRIERLF.
(3) i FIRE B AR FT R Z BT £,

(4) IR SIMBRBARATRIIR T,

3.4 FRUHTE

1) TR TR, EERNEARR TR,

2) RS, FIAERE RIS T

3) RIS B R KBRS .

4) BIERHT S FRIST LR, ENERIREIZEER
BRBHATYE, BRREREEE,

(
(
(
(

x3 HERR. EEBERY. EENERRFNERETLR. HTFHEERE
TJL—H0WxK | ERER | BERERTIX EEEBEHFEEETLE  Applicable crimp terminals and crimp tools  E&SHIEREHFMERZETE *2 #fF hJL 2 Tightening torque 'EEHAE
Breakertype | Rated | Wire size JST (UL File No.E42024)| NICHIFU (UL File No.E44245) | Panduit (UL File No.E52164) |ABB (UL File No.E9809) | fa U32F - LT | o v 72T
WrEgesnoskm | Curent | ipmesRst
> e JEfRes s a s a s a s g | Screw/flat terminal Lug terminal
EFE o | EERF | EEIE | EBERT EEIE EERT EEIE | E&EGT | EBIE BT - B
Terminal Tool Terminal Tool Terminal Tool Terminal | Tool Sin T - PR T HRIL T
EfEnT | FETR | EEEmT EETE EEHT EETE | EERF | EEIE
BWA0OEAGU | 250A | 272 MOM 150-12 R150-12 LCB250-12-X M975 | TBMGS
BWA00SAGU mm S250-12R | CT-720 _
BW400RAGU 300A ff%mg“)" 180-12 R180-12 tgﬁgggj 3; CT-3001/8T 475 Ib.-in (%55”;"'_'2{)
BWA400HAGU Y YE1 fesseiag | NOH-300K — — (43.5N-m) ’
EW400SAGU 350A " 325-12 3 3 LCA600-12-6 ’
(253mm?) R325-12N
Evisonacy | 400a | oAWGx2 gy o R80-12 Lonsrozx | TSN T aro .
EW400HAGU (85.0mm* X 2) LCAB00-12-6 (31.9N-m)
250 MCM X 2 LCB250-12-X
swosoracy | CA | (27mmx) | R15012 R150-12 $250-12R | CT-720 MO75 | TBMBS 275 Ib.-in.
BW630HAGU G00A | 300MOMX2 | g4 45 YE-1 | R180-12 NOH-300K | LCAB00-12-X | CT-3001/ST 415 Ip.-in. (31.1N*m)
(177mm? x 2) LCA350-12-X (471N *m)
EW630RAGU 500 MCM x 2 R325-12S o o
630A (253mm® X 2) 325-12 R325-12N LCAB00-12-6 | CT-3001/ST —
500 MCM X 2 R325-12S 1o ] 415 Ib.-in.
BWS0ORAGU | 700A | (sammixz) |32512 | YF |papgoy | NOH-300K |LCABCO-12:6| CT-3001/8T) B (47.1N"m) 275 Ib.-in.
BWS0OHAGU 300 MCM X 3 (31.1N*m)
800A | ({50mm’ x 3) B B B B
AR 1 ERERET75CEREER Notes : *1 167°F (75°C) Copper wire HE *1 IR (ERT75°CRRL
2 EERFEERM *2 Crimp terminal manufacturer : % RS FEEANT]
JST=AAEE R FREHAH JST=Japan Solderless Terminal MFG Co.,Ltd. JST=AAFEERFEIEHA St
NICHIFU=#st 24t =57 NICHIFU=Nichifu Terminal Co. Ltd. NICHIFU=NICHIFUk=t &t
Panduit=Panduit Corp. Panduit=Panduit Corp. Panduit=Panduit Corp.
ABB=ABB Installation Products Inc. ABB=ABB Installation Products Inc. ABB=ABB Installation Products Inc.
3 WFHN—HERATHHE, RI25-12NEFEAL TSV, *3 Use R325-12N for terminal cover. *3 (FFRSFEA, 15 R325-12N

=4 U ER iR S
Table 4 Dimensions of terminal and copper bus
x4 IRTFHBORIIEESKE
PN i o WTFETE T UEBEEAE
Frame Type Dimensions of terminals Details of connection part
] Be RELISY TS MRS
ABESYT
Interphase barrier o
TRIEREIR (RTHED) | TR
@ I Fl inal
BW400EAGU g \ B
BW400SAGU Mi2x35 g
BW400RAGU 5| 5 Fy b (EE)
400A BW400HAGU pos=sE Nut (Top side)
WA 2 (RMEMW )
EW400SAGU 140 Mounting hole "
EW400RAGU LI Conductor
EW400HAGU 2 {RERTER 1S, 3 BEREBROPREEFEZRRVZRICE) T, S
2-pole breaker are supplied in 3-pole frames with current carrying parts omitted
from the center pole.
2 tRUAERER /D 3 IRUTESRERR P IR SRR, K
630AF:38.5
BW630RAGU B v ERAE
) Connection
630A | BW630HAGU ‘—:4 R UE | BO0AF:10 e
EW630RAGU Interphase barrier - <‘, - R .
S I TEIENEA (ETEED ) | IR +2 HJL b (KER)
4t I H [ 7B ) |/ Flat terminal Bolt (Bottom side)
8la ! I - I YUE A wew 54 (E)
| = I I ) vl NI
© H H M12Xx40 ® !
| | i N
8OOA | BW80ORAGU ‘ LJelellL S
BW800OHAGU LL-‘ Mounting hole
‘ 210 REAL

*x0.0394=inch



TR
Line side
EBIRA

3

Overcurrent trippi

BRMERRERT
AR T
AHTRAMPERA v F

Dielectric test switch
i ESW

ing device

ZCT
C l
F LT
|
4 6 RE5|4 LEE

L%dﬁﬁg Earth leakage tripping device

oad side peietipliehic

ol

4 ZOfthDFEEIER

® REBENEICHL CEBOBBIETAES SUHBERR

ABDOAHT A MIBRAA v F ERUBUICRETTS T &

HCEFT. HBRIEX DT MRS v FERLTLIE

=0

O X HT X NJERA v FDRIEE, R TRIVERL

TL—DAG7E b TREEIC U THT 0 TR,

OBRBEDT—RWTFIE, BITEHLTI LI,
I, A1) BRETZ MRSV ERLT, B

REET TS

o NSUY—I—BOmBREEMTHBALE. KBNS

1 mELEBNTEAL EE L.

O (RN AL, [IEROBBFHOBRIELTEEL,

o EBEMO (I3 DBAIF, (MBRORRHHEE <

L

4 Other cautions

@ Measurement of insulation resistance between phases and
the dielectric strength test can be performed by pressing and
turning the Dielectric test switch. Return the Dielectric test switch
after the test is completed.

@ Before operating the Dielectric test switch, press the trip button
to trip the breaker.

@ Ground the ground terminals of electrical devices.

@ Press the test button of Earth leakage circuit breaker at least
once a month to perform an operation check.

@ Do not use transceivers from earth leakage circuit breaker
within one meter. Otherwise, the breaker may malfunction.

@ Detach the accessory cover screw only when you install
accessories.

@ Refer to accessory instruction manual for their installation.

o

<
e

@@@?9 —
~ l@

AT
P“‘:D\de"‘ .

o OEL>
|
=
(pust et @)
.”n‘s‘;‘:’" ot
THBERER
Dielectric tests
BT FIXE

S

Rt

(Push e
Test
fion

D @

i

4 HEiIEEm

O FER AR ER AR FHRET, LA RrAMTIREEsE
et R4 ENE R EX .
HRERE, HEHERESR.

O SR T RNRE, BIRSARETRIONS, BETHE
RERIRIE.

© FBSHLERAOIRIhIR FIE S L i,

o X TiRFBMTIERS, HREA —RIRERIIXIGRERIA
E.

OEEMALBMARNENALLBIRENR, BEBH
AHLER1TKLASMER.

O X TIEF] B 17T R B AL iR AI KT B IP TIRET
BN R TR,

O EMBMAT, BESAMERTEERLES.

— FENE AFEIHRIES)/T11 36404,
Pb Hg Cd |Cr(VI)| PBB |PBDE
emrmE o T o T 6 [ o o [ o | O Frssmmmiesist sasm e RI5EGe/ 1265 2 ENRBERLIT,
“ X | ER R ENRESER RS FA S B BHIGB/T265 2 ENIRE TR,
TREBIATEE RS X O O O @] (@]
B 1 AMSUENROHSISIES LTuwET, 2 HEROHSESIE L (HENEDEEERRL TV E T,

Notes) 1. This product complies with EU RoHS directive.

ER) 1. AT RIEEEUNROHSIESHIER,

2. According to China RoHS directive, the names and contents of the hazardous substances are indicated.

2. AFRIKER (BT RESYERAIERERENL] mETREABEEUR.

ELTEHRSEHIEKNSH

T369-0192 HERBENRE—THLEAS
TEL : 048-548-1111
URL : http://www.fujielectric.co.jp/fcs/

2w e

BT A
TEL:0120-242-994

Email : ed-c@fujielectric.com
FH 8:30~12:00 13:00~ 17:00 (+-B -8, ¥HHEERO

Fuiji Electric FA Components &
Systems Co,, Ltd.

No.5-45 Minami 1-chome Konosu-shi Saitama-ken,
369-0192, Japan

Phone: +81-48-548-1111

URL : http://www.fujielectric.com/fcs/

ETENNBEHERINSA

BAEEEEBEME—THS&E45S
Hpgm 369-0192

E3iE : +81-48-548-1111

URL : http://www.fujielectric.com/fcs/




	P1
	P2
	P3
	P4

